BID SUMMARY

2021 Street Rehabilitation, Contract A

Project No. 2021-001
Planning & Development Department
Tuesday, March 30, 2021
10:00 AM

Engineer's Estimate for the Base Bid: \$3,305,000 Engineer's Estimate for the Bid Alternate A: \$21,000 Engineer's Estimate for the Bid Alternate B: \$83,000



CITY OF WESTERVILLE

21 S. STATE STREET WESTERVILLE, OH 43081

COMPANY	INFORMAL TOTAL OF BASE BID ITEMS (Lines 1 thru 147)	ADJUSTED TOTAL OF BASE BID ITEMS (Lines 1 thru 147)	DIFFERENCE
Strawser Paving	\$2,769,183.49	\$2,769,183.49	\$0.00
Columbus Asphalt Paving	\$2,932,709.56	\$2,932,709.56	\$0.00
Shelly & Sands	\$3,190,252.85	\$3,190,252.85	\$0.00
Decker Construction	\$3,317,318.24	\$3,317,318.24	\$0.00
Forterra	Incomplete Bid*	Incomplete Bid*	Incomplete Bid*

		_
ALTERNATE A INFORMAL TOTAL OF BID ITEMS (Lines A- 1 thru A-5)	ALTERNATE B INFORMAL TOTAL OF BID ITEMS (Lines B- 1 thru B-5)	Total with Recommended Alternates
\$11,440.75	\$42,996.44	\$2,812,179.93
\$14,371.75	\$51,150.85	\$2,983,860.41
\$21,322.00	\$81,122.00	\$3,271,374.85
\$17,721.70	\$48,158.53	\$3,365,476.77
Incomplete Bid*	Incomplete Bid*	

EXPLANATION: The informal total of bid items listed above represents the bidder's total amount for the project. The adjusted total of bid items

amount represents the corrected total that was necessary to correct any bidder's mathematical errors.

NOTES: *Forterra's bid submission was incomplete as it solely provided pricing for three (3) of the 147 Base Bid items and did not include the required Bid Guaranty.

2021 STREET REHABILITATION PROJECT, CONTRACT A (Project No. 2021-001)

BID SCHEDULE

			1599 Col (61	wser Paving 5 Frank Road lumbus, OH 4) 276-5273		Columbus Asphalt Paving 1196 Technology Drive Gahanna, OH 43230 (614) 759-9800	1	elly & Sands Inc 515 Harmon Ave Columbus, OH (614) 444-5100	3040 Mci Columb (614)	onstruction Co. Kinley Avenue us, OH 43204) 488-7958
	(A)		(B)	(C) Unit Item TOTAL IN	(B)	(C) <u>Unit Item TOTAL IN</u>	(B)	(C) <u>Unit Item TOTAL IN</u>	(B)	(C) Unit Item TOTAL IN
ITEM SPEC CMS DESCRIPTION	QUANTITY	UNIT	UNIT PRICE	FIGURES (A x B)	UNIT	PRICE FIGURES (A x B)	UNIT PRICE	FIGURES (A x B)	UNIT PRICE	FIGURES (A x B)
2021 STREET REHABILITATION A										
STREETS										
1 201 COLS TREE PRUNING, AS DIRECTED	5.00	EA	\$251.29	\$1,256.45		\$210.00 \$1,050.00		500.00 \$2,500.00	\$250.	00 \$1,250.00
2 202 COLS CURB AND GUTTER REMOVED	6,890.00	FT	\$8.44	\$58,151.60		\$9.00 \$62,010.00		\$11.00 \$75,790.00	\$8.	85 \$60,976.50
3 202 COLS CURB REMOVED	100.00	FT	\$8.44	\$844.00		\$3.30 \$330.00		\$10.00 \$1,000.00	\$10.	30 \$1,030.00
4 202 COLS PAVEMENT REMOVED, AS DIRECTED	265.00	SY	\$19.00	\$5,035.00		\$18.00 \$4,770.00		\$45.00 \$11,925.00	\$27.	81 \$7,369.65
5 202 COLS WALK REMOVED	22,586.00	SF	\$2.06	\$46,527.16		\$2.70 \$60,982.20		\$3.00 \$67,758.00	\$4.	12 \$93,054.32
6 204 ODOT EXCAVATION OF SUBGRADE, AS DIRECTED	30.00	CY	\$33.92	\$1,017.60		\$35.00 \$1,050.00		106.00 \$3,180.00	\$72.	58 \$2,177.40
7 204 ODOT SELECT GRANULAR BACKFILL, NO 1 STONE, 703.01	10.00	CY	\$77.85	\$778.50		\$70.00 \$700.00		\$82.00 \$820.00	\$50.	00 \$500.00
8 204 ODOT SELECT GRANULAR BACKFILL, NO 2 STONE, 703.01	10.00	CY	\$77.85	\$778.50		\$70.00 \$700.00		\$58.00 \$580.00	\$50.	00 \$500.00
9 251 ODOT PARTIAL DEPTH PAVEMENT REPAIR	307.00	SY	\$20.00	\$6,140.00		\$29.00 \$8,903.00		\$43.00 \$13,201.00	\$36.	70 \$11,266.90
10 252 COLS FULL DEPTH PAVEMENT SAWING, AS DIRECTED	68.00	FT	\$4.49	\$305.32		\$2.80 \$190.40		\$5.00 \$340.00	\$3.	50 \$238.00
11 253 ODOT PAVEMENT REPAIR	159.00	SY	\$132.48	\$21,064.32		\$95.00 \$15,105.00	9	106.00 \$16,854.00	\$141.	39 \$22,481.01
12 253 ODOT PAVEMENT REPAIR, CONCRETE BASE	259.00	SY	\$80.41	\$20,826.19		\$120.00 \$31,080.00	9	160.00 \$41,440.00	\$115.	36 \$29,878.24
13 254 COLS PAVEMENT PLANING, 1-1/2", ASPHALT CONCRETE	4,803.00	SY	\$2.13	\$10,230.39		\$1.70 \$8,165.10		\$3.00 \$14,409.00	\$2.	25 \$10,806.75
14 254 COLS PAVEMENT PLANING, 2-1/2", ASPHALT CONCRETE	5,661.00	SY	\$1.68	\$9,510.48		\$1.70 \$9,623.70		\$3.00 \$16,983.00	\$2.	83 \$16,020.63
15 254 COLS PAVEMENT PLANING, 3", ASPHALT CONCRETE	21,918.00	SY	\$2.05	\$44,931.90		\$1.90 \$41,644.20		\$3.50 \$76,713.00	\$3.	24 \$71,014.32
16 259 COLS DRIVEWAY PAVEMENT REPLACEMENT, TYPE 111A	3.00	CY	\$1,082.20	\$3,246.60		\$825.00 \$2,475.00	Ş	750.00 \$2,250.00	\$500.	00 \$1,500.00
17 304 ODOT AGGREGATE BASE, AS DIRECTED	10.00	CY	\$73.83	\$738.30		\$47.00 \$470.00	9	300.00 \$3,000.00	\$60.	00 \$600.00
18 407 ODOT NON TRACKING TACK COAT (0.07 GAL/SY)	2,400.00	GAL	\$4.17	\$10,008.00		\$4.40 \$10,560.00		\$3.00 \$7,200.00	\$4.	25 \$10,200.00
19 417 COLS ASPHALT EMULSION SLURRY SEAL, TYPE I	40,188.00	SY	\$2.32	\$93,236.16		\$2.35 \$94,441.80		\$2.50 \$100,470.00	\$2.	30 \$92,432.40
20 417 COLS STREET SWEEPING, AS DIRECTED	10.00	HR	\$212.24	\$2,122.40		\$210.00 \$2,100.00	\$	150.00 \$1,500.00	\$210.0	00 \$2,100.00
21 421 COLS MICROSURFACING, LEVELING COURSE	62,326.00	SY	\$1.93	\$120,289.18		\$1.93 \$120,289.18		\$2.40 \$149,582.40	\$1.	92 \$119,665.92
22 421 COLS MICROSURFACING, SURFACE COURSE	62,326.00	SY	\$1.98	\$123,405.48		\$1.98 \$123,405.48		\$2.50 \$155,815.00	\$1.	96 \$122,158.96
23 12423 WEST CRACK SEALING, TYPE II	109,000.00	LB	\$1.06	\$115,540.00		\$1.05 \$114,450.00		\$1.30 \$141,700.00	\$1.	05 \$114,450.00
24 441 ODOT ASPHALT CONCRETE, INT. COURSE, TYPE 2, (448)	1,388.00	CY	\$167.97	\$233,142.36		\$157.00 \$217,916.00	5	145.00 \$201,260.00	\$168.	12 \$233,350.56
25 441 ODOT ASPHALT CONCRETE, SUR. COURSE, TYPE 1, (448), PG64-22	1,273.00	CY	\$181.80	\$231,431.40		\$192.00 \$244,416.00	5	150.00 \$190,950.00	\$201.	48 \$256,484.04
26 12452 WEST 6" NON-REINFORCED CONCRETE PAVEMENT, AS DIRECTED, CLASS COC MS	265.00	SY	\$73.88	\$19,578.20		\$70.00 \$18,550.00	5	140.00 \$37,100.00	\$77.	25 \$20,471.25
27 12452 WEST 8" NON-REINFORCED CONCRETE PAVEMENT, AS DIRECTED, CLASS COC MS	20.00	SY	\$79.16	\$1,583.20		\$82.00 \$1,640.00	5	100.00 \$2,000.00	\$87.	55 \$1,751.00
28 604 COLS CURB INLET ADJUSTED TO GRADE	94.00	EA	\$158.31	\$14,881.14		\$490.00 \$46,060.00	5	390.00 \$36,660.00	\$309.	00 \$29,046.00
29 604 COLS CURB INLET RECONSTRUCTED TO GRADE	68.00	EA	\$448.55	\$30,501.40		\$910.00 \$61,880.00	5	900.00 \$61,200.00	\$2,832.	50 \$192,610.00
30 604 COLS MANHOLE ADJUSTED TO GRADE	1.00	EA	\$263.85	\$263.85		\$400.00 \$400.00	Ş	600.00 \$600.00	\$200.	00 \$200.00
31 605 COLS 6" UNDERDRAIN, 720.12, TYPE SP	4,830.00	FT	\$7.92	\$38,253.60		\$11.20 \$54,096.00		\$14.00 \$67,620.00	\$6.	70 \$32,361.00
32 12608 WEST 4" CONCRETE WALK, CLASS COC 5	22,586.00	SF	\$5.80	\$130,998.80		\$7.85 \$177,300.10		\$7.30 \$164,877.80	\$9.	01 \$203,499.86
33 12608 WEST 8" CONCRETE WALK, CLASS COC 5	50.00	SF	\$7.92	\$396.00		\$11.00 \$550.00		\$33.00 \$1,650.00	\$12.	36 \$618.00
34 12608 WEST CURB RAMP, CLASS COC 5	103.00	EA	\$131.93	\$13,588.79		\$155.00 \$15,965.00	Ş	170.00 \$17,510.00	\$257.	50 \$26,522.50
35 12608 WEST DETECTABLE WARNING, TYPE "E"	1,030.00	SF	\$19.52	\$20,105.60		\$20.00 \$20,600.00		\$38.00 \$39,140.00	\$20.	60 \$21,218.00
36 12608 WEST SIDEWALK PANEL CHAMFER SAW CUT, AS DIRECTED	155.00	FT	\$36.94	\$5,725.70		\$26.00 \$4,030.00		\$20.00 \$3,100.00	\$15.	45 \$2,394.75
37 609 COLS 3.5" DIAMETER CORED CURB	5.00	EA	\$31.66	\$158.30		\$53.00 \$265.00		275.00 \$1,375.00	\$22.	66 \$113.30

Strawser Paving

Columbus Asphalt Paving

Shelly & Sands Inc

Decker Construction Co.

38 1260	9 WEST COMBINATION CURB AND GUTTER, TYPE STANDARD, CLASS COC 5	2,060.00	FT	\$30.08	\$61,964.80	\$25.50 \$52,530.00	\$50.00 \$103,000.00	\$30.38 \$62,582.80
39 1260		4,830.00	FT	\$21.11	\$101,961.30	\$21.25 \$102,637.50	\$25.00 \$120,750.00	\$18.54 \$89,548.20
40 1260	9 WEST COMBINATION CURB AND GUTTER, SPOT, CLASS COC 5	11,839.00	FT	\$30.08	\$356,117.12	\$36.60 \$433,307.40	\$33.00 \$390,687.00	\$42.23 \$499,960.97
41 1260	9 WEST CURB, CONCRETE BACKWALL, CLASS COC 5	50.00	FT	\$26.39	\$1,319.50	\$28.00 \$1,400.00	\$44.00 \$2,200.00	\$15.45 \$772.50
42 1260	9 WEST CURB, STRAIGHT 18", CLASS COC 5	140.00	FT	\$31.66	\$4,432.40	\$37.00 \$5,180.00	\$44.00 \$6,160.00	\$30.48 \$4,267.20
43 1260	9 WEST CURB, STRAIGHT 18", SPOT, CLASS COC 5	50.00	FT	\$31.66	\$1,583.00	\$42.00 \$2,100.00	\$45.00 \$2,250.00	\$42.23 \$2,111.50
44 611	ODOT 3" CONDUIT, TYPE E, 707.46	50.00	FT	\$12.66	\$633.00	\$20.00 \$1,000.00	\$28.00 \$1,400.00	\$15.45 \$772.50
45 630	ODOT GROUND MOUNTED SUPPORT, NO. 3 POST	166.00	FT	\$15.41	\$2,558.06	\$15.00 \$2,490.00	\$5.00 \$830.00	\$15.03 \$2,494.98
46 630	ODOT REMOVAL OF GROUND MOUNTED POST & SIGN AND DISPOSAL	3.00	EA	\$36.94	\$110.82	\$36.00 \$108.00	\$150.00 \$450.00	\$36.05 \$108.15
47 630	ODOT REMOVAL OF GROUND MOUNTED SIGN AND REERECTION	1.00	EA	\$73.88	\$73.88	\$72.00 \$72.00	\$525.00 \$525.00	\$72.10 \$72.10
48 630	ODOT SIGN, FLAT SHEET, TYPE G	185.00	SF	\$30.61	\$5,662.85	\$30.00 \$5,550.00	\$5.00 \$925.00	\$29.87 \$5,525.95
49 630	ODOT TRAFFIC SIGNS AND SUPPORTS, AS DIRECTED (ALLOWANCE)	1.00	LS	\$5,000.00	\$5,000.00	\$5,000.00 \$5,000.00	\$5,000.00 \$5,000.00	\$5,000.00 \$5,000.00
50 632	ODOT DETECTOR LOOP	10.00	EA	\$2,849.59	\$28,495.90	\$2,800.00 \$28,000.00	\$2,300.00 \$23,000.00	\$2,781.00 \$27,810.00
51 632	ODOT LOOP DETECTOR LEAD-IN CABLE	435.00	FT	\$2.11	\$917.85	\$2.10 \$913.50	\$3.50 \$1,522.50	\$2.06 \$896.10
52 632	ODOT PULL BOX ADJUSTED TO GRADE	1.00	EA	\$374.67	\$374.67	\$370.00 \$370.00	\$530.00 \$530.00	\$365.65 \$365.65
53 642	ODOT CENTER LINE, DOUBLE SOLID 4", TYPE 1	0.69	MI	\$1,363.58	\$940.87	\$1,990.00 \$1,373.10	\$1,365.00 \$941.85	\$1,330.76 \$918.22
54 642	ODOT CENTERLINE, SOLID/DASH 4", TYPE 1	1.87	MI	\$754.61	\$1,411.12	\$1,000.00 \$1,870.00	\$750.00 \$1,402.50	\$736.45 \$1,377.16
55 642	ODOT CHANNELIZING LINE 8", TYPE 1	1,505.00	FT	\$0.69	\$1,038.45	\$0.65 \$978.25	\$0.60 \$903.00	\$0.67 \$1,008.35
56 642	ODOT LANE ARROW, TYPE 1	49.00	EA	\$73.88	\$3,620.12	\$55.00 \$2,695.00	\$74.00 \$3,626.00	\$72.10 \$3,532.90
57 642	ODOT SCHOOL SYMBOL MARKING, 72", TYPE 1	3.00	EA	\$432.72	\$1,298.16	\$315.00 \$945.00	\$434.00 \$1,302.00	\$422.30 \$1,266.90
58 642	ODOT SHARROW	66.00	EA	\$173.09	\$11,423.94	\$60.00 \$3,960.00	\$173.00 \$11,418.00	\$168.92 \$11,148.72
59 642	ODOT STOP LINE 24", TYPE 1	219.00	FT	\$4.75	\$1,040.25	\$3.25 \$711.75	\$4.00 \$876.00	\$4.64 \$1,016.16
60 642	ODOT TRANSVERSE LINE 12", YELLOW, TYPE 1	221.00	FT	\$2.53	\$559.13	\$2.00 \$442.00	\$2.50 \$552.50	\$2.48 \$548.08
61 642	ODOT WORD ON PAVEMENT (72"), TYPE 1	7.00	EA	\$94.99	\$664.93	\$65.00 \$455.00	\$95.00 \$665.00	\$92.70 \$648.90
62 644	ODOT YIELD LINE	8.00	FT	\$22.69	\$181.52	\$26.00 \$208.00	\$22.00 \$176.00	\$22.15 \$177.20
63 647	ODOT CROSSWALK LINE, 8", TYPE B90	2,200.00	FT	\$7.12	\$15,664.00	\$7.50 \$16,500.00	\$7.00 \$15,400.00	\$6.96 \$15,312.00
64 807	COLS VALVE BOX ADJUSTED TO GRADE	1.00	EA	\$263.85	\$263.85	\$255.00 \$255.00	\$915.00 \$915.00	\$150.00 \$150.00
65 1215	40 WEST ASPHALT REJUVENATING AGENT	149,035.00	SY	\$0.96	\$143,073.60	\$0.97 \$144,563.95	\$1.00 \$149,035.00	\$0.97 \$144,563.95
66 1200	6 WEST PARKING BLOCK REMOVED AND RESET, COMPLETE	5.00	EA	\$90.24	\$451.20	\$45.00 \$225.00	\$84.00 \$420.00	\$60.00 \$300.00
67 1200	6 WEST PARKING BLOCK REMOVED AND DISPOSED	5.00	EA	\$15.04	\$75.20	\$30.00 \$150.00	\$84.00 \$420.00	\$40.00 \$200.00
68 1200	6 WEST PARKING BLOCK SUPPLIED AND INSTALLED, COMPLETE	5.00	EA	\$136.05	\$680.25	\$81.00 \$405.00	\$160.00 \$800.00	\$125.00 \$625.00
69 1220	2 WEST CONCRETE COLLAR REMOVED, AS DIRECTED	20.00	SY	\$28.50	\$570.00	\$115.00 \$2,300.00	\$40.00 \$800.00	\$85.00 \$1,700.00
70 1260	4 WEST MANHOLE ADJUSTED TO GRADE, ASPHALT COLLAR	10.00	EA	\$844.32	\$8,443.20	\$1,700.00 \$17,000.00	\$850.00 \$8,500.00	\$1,000.00 \$10,000.00
71 1260	4 WEST MANHOLE ADJUSTED TO GRADE, CORED CONCRETE COLLAR	10.00	EA	\$923.48	\$9,234.80	\$1,300.00 \$13,000.00	\$970.00 \$9,700.00	\$2,000.00 \$20,000.00
72 1265	9 WEST WATER	2.00	MGAL	\$105.54	\$211.08	\$200.00 \$400.00	\$105.00 \$210.00	\$250.00 \$500.00
73 1266	0 WEST SODDING, AS DIRECTED	17.00	SY	\$15.83	\$269.11	\$32.00 \$544.00	\$136.00 \$2,312.00	\$100.00 \$1,700.00
74 1280	7 WEST VALVE BOX ADJUSTED TO GRADE, ASPHALT COLLAR	10.00	EA	\$527.70	\$5,277.00	\$1,700.00 \$17,000.00	\$855.00 \$8,550.00	\$1,000.00 \$10,000.00
75 1280	7 WEST VALVE BOX ADJUSTED TO GRADE, CORED CONCRETE COLLAR	10.00	EA	\$606.86	\$6,068.60	\$1,400.00 \$14,000.00	\$970.00 \$9,700.00	\$2,000.00 \$20,000.00
76 SPC	14' SPEED HUMP	1.00	EA	\$4,076.95	\$4,076.95	\$3,600.00 \$3,600.00	\$3,700.00 \$3,700.00	\$5,000.00 \$5,000.00
77 SP0	BRICK PAVEMENT REPLACEMENT, AS DIRECTED (ALLOWANCE)	1.00	LS	\$5,000.00	\$5,000.00	\$5,000.00 \$5,000.00	\$5,000.00 \$5,000.00	\$5,000.00 \$5,000.00
78 SPC	IRON CASTINGS, AS DIRECTED	1,500.00	LB	\$2.30	\$3,450.00	\$2.00 \$3,000.00	\$3.00 \$4,500.00	\$2.00 \$3,000.00
79 SPC	IRRIGATION OR INVISIBLE FENCE REPAIR, AS DIRECTED (ALLOWANCE)	1.00	LS	\$5,000.00	\$5,000.00	\$5,000.00 \$5,000.00	\$5,000.00 \$5,000.00	\$5,000.00 \$5,000.00
80 SPC	STEEL PLATE, AS DIRECTED	10,000.00	LB	\$0.16	\$1,600.00	\$0.25 \$2,500.00	\$2.00 \$20,000.00	\$0.25 \$2,500.00
81 SP0	WATER QUALITY STRUCTURE INSTALLATION, AS PER PLAN	1.00	LS	\$9,856.41	\$9,856.41	\$13,000.00 \$13,000.00	\$8,000.00 \$8,000.00	\$29,746.56 \$29,746.56

PARKING LOTS

		PARKING LUIS							
82	12423	23 WEST CRACK SEALANT, RUBBERIZED	6,390.00	LB	\$2.30	\$14,697.00	\$2.30 \$14,697.00	\$1.30 \$8,307.00	\$2.31 \$14,760.90
83	121540	40 WEST ASPHALT REJUVENATING AGENT	16,490.00	SY	\$0.96	\$15,830.40	\$0.97 \$15,995.30	\$1.00 \$16,490.00	\$0.97 \$15,995.30
84	12006	06 WEST PARKING BLOCK REMOVED AND RESET, COMPLETE	31.00	EA	\$90.24	\$2,797.44	\$45.00 \$1,395.00	\$84.00 \$2,604.00	\$65.00 \$2,015.00
85	12006	06 WEST PARKING BLOCK REMOVED AND DISPOSED	1.00	EA	\$15.04	\$15.04	\$30.00 \$30.00	\$84.00 \$84.00	\$50.00 \$50.00
86	12006	06 WEST PARKING BLOCK SUPPLIED AND INSTALLED, COMPLETE	1.00	EA	\$136.05	\$136.05	\$78.00 \$78.00	\$160.00 \$160.00	\$125.00 \$125.00
		MAIN ST RRFB							
87	630	O ODOT GROUND MOUNTED SUPPORT, NO. 3 POST, AS PER PLAN	74.00	FT	\$31.66	\$2,342.84	\$32.00 \$2,368.00	\$5.00 \$370.00	\$30.90 \$2,286.60
88	630	O ODOT SIGN, FLAT SHEET, AS PER PLAN	18.50	SF	\$45.38	\$839.53	\$45.00 \$832.50	\$5.00 \$92.50	\$44.29 \$819.37
89	630	O ODOT RECTANGULAR RAPID FLASHING BEACON (RRFB) SYSTEM (Main St)	1.00	EACH	\$18,997.27	\$18,997.27	\$19,000.00 \$19,000.00	\$3,100.00 \$3,100.00	\$18,540.00 \$18,540.00
90	630	O ODOT REMOVAL OF GROUND MOUNTED SIGN AND DISPOSAL	4.00	EACH	\$36.94	\$147.76	\$36.00 \$144.00	\$100.00 \$400.00	\$36.05 \$144.20
91	630	O ODOT REMOVAL OF POST SUPPORT AND DISPOSAL	4.00	EACH	\$36.94	\$147.76	\$36.00 \$144.00	\$100.00 \$400.00	\$36.05 \$144.20
92	630	O ODOT REMOVAL OF POLE MOUNTED SIGN AND DISPOSAL	4.00	EACH	\$36.94	\$147.76	\$36.00 \$144.00	\$96.00 \$384.00	\$36.05 \$144.20
93	647	7 ODOT CROSSWALK LINE, 8", TYPE B90	60.00	FT	\$7.12	\$427.20	\$26.00 \$1,560.00	\$7.00 \$420.00	\$6.96 \$417.60
94	644	4 ODOT YIELD LINE	20.00	FT	\$22.69	\$453.80	\$7.50 \$150.00	\$22.00 \$440.00	\$22.15 \$443.00
95	625	5 ODOT CONDUIT, 2", 725.04	11.00	FT	\$58.05	\$638.55	\$58.00 \$638.00	\$25.00 \$275.00	\$56.55 \$622.05
96	625	5 ODOT CONDUIT, JACKED OR DRILLED, 725.04, 2"	19.00	FT	\$94.99	\$1,804.81	\$94.00 \$1,786.00	\$190.00 \$3,610.00	\$92.70 \$1,761.30
97	625	5 ODOT CONDUIT CLEANED AND CABLES REMOVED	28.00	FT	\$1.06	\$29.68	\$1.05 \$29.40	\$22.00 \$616.00	\$1.03 \$28.84
98	625	5 ODOT TRENCH	11.00	FT	\$10.55	\$116.05	\$11.00 \$121.00	\$73.00 \$803.00	\$10.30 \$113.30
99	625	5 ODOT GROUND ROD	2.00	EACH	\$274.41	\$548.82	\$270.00 \$540.00	\$375.00 \$750.00	\$267.80 \$535.60
100	625	5 ODOT POWER SERVICE, AS PER PLAN	1.00	EACH	\$2,110.80	\$2,110.80	\$2,100.00 \$2,100.00	\$2,700.00 \$2,700.00	\$2,060.00 \$2,060.00
101	625	5 ODOT UNDERGROUND WARNING/MARKING TAPE	11.00	FT	\$4.22	\$46.42	\$4.20 \$46.20	\$4.00 \$44.00	\$4.12 \$45.32
102	632	2 ODOT SIGNAL CABLE, 5 CONDUCTOR, NO. 14 AWG	138.00	EACH	\$3.69	\$509.22	\$3.65 \$503.70	\$3.00 \$414.00	\$3.61 \$498.18
103	632	2 ODOT PEDESTAL, MISC.: PEDESTAL FOUNDATION, 4'	2.00	EACH	\$1,741.41	\$3,482.82	\$1,700.00 \$3,400.00	\$1,100.00 \$2,200.00	\$1,699.50 \$3,399.00
104	632		35.00	FT	\$5.80	\$203.00	\$5.75 \$201.25	\$8.00 \$280.00	\$5.67 \$198.45
105	632		1.00	EACH	\$1,794.19	\$1,794.19	\$1,800.00 \$1,800.00	\$1,240.00 \$1,240.00	\$1,751.00 \$1,751.00
106	202		50.00	SF	\$5.28	\$264.00	\$5.25 \$262.50	\$8.00 \$400.00	\$7.21 \$360.50
107	12608		1.00	EA	\$211.08	\$211.08	\$150.00 \$150.00	\$170.00 \$170.00	\$2,060.00 \$2,060.00
108	12608		50.00	SF	\$10.55	\$527.50	\$8.00 \$400.00	\$15.00 \$750.00	\$15.45 \$772.50
109			10.00	SF	\$19.52	\$195.20	\$20.00 \$200.00	\$60.00 \$600.00	\$20.60 \$206.00
100	12000	occo bereamate minimo, m e e	10.00	Oi		,	,		72333 72333
		MAXTOWN RD RRFB							
110	12608		692.00	SF	\$8.44	\$5,840.48	\$12.00 \$8,304.00	\$8.00 \$5,536.00	\$13.39 \$9,265.88
111			4.00	EA	\$211.08	\$844.32	\$150.00 \$600.00	\$170.00 \$680.00	\$257.50 \$1,030.00
112	12608		30.00	SF	\$19.53	\$585.90	\$20.00 \$600.00	\$51.00 \$1,530.00	\$20.60 \$618.00
113	630		1.00	EA	\$5,277.02	\$5,277.02	\$5,200.00	\$4,700.00 \$4,700.00	\$5,150.00 \$5,150.00
114	647		120.00	FT	\$7.12	\$854.40	\$13.50 \$1,620.00	\$7.00 \$840.00	\$6.96 \$835.20
114	047	OBOT GROSSWALKEINE, 0 , THE BS0	120.00			Ç034.40	\$23.30 \$4,0E0.00	\$7.00 \$040.00	Ç6.30 Ç633.E6
		WALNUT ST RRFB							
115	630		1.00	LS	\$5,277.02	\$5,277.02	\$5,200.00 \$5,200.00	\$4,700.00 \$4,700.00	\$5,150.00 \$5,150.00
	555	Taille Nuger and	1.00		<i>\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\</i>	+3,277.02	43/200.00 43/200.00	\$497.00.00 \$497.00.00	ψυ ₁ 130.00 ψυ ₁ 130.00
		SALT BARN							
116	254		954.00	SY	\$14.41	\$13,747.14	\$9.90 \$9,444.60	\$18.00 \$17,172.00	\$13.84 \$13,203.36
117	407		70.00	GAI	\$4.38	\$306.60	\$12.60 \$882.00	\$3.00 \$210.00	\$4.25 \$297.50
	401	SSS. NON TRACTICAL INDIVIDUAL (U.U. DALLOT)	70.00	OAL	<u></u>	+300.00	- Variou Gooriuu	43.00 AFTO.00	44-E2 4E21-G0

118	441	ODOT ASPHALT CONCRETE, INTERMEDIATE COURSE, TYPE 2 (448), PG64-22		46.00	CY	\$356.01	\$16,376.46	\$256.00 \$11,776.00	\$305.00 \$14,030.00	\$399.22 \$18,364.12
119	441	ODOT ASPHALT CONCRETE, SURFACE COURSE, TYPE 1 (448), PG64-22		33.00	CY	\$452.00	\$14,916.00	\$360.00 \$11,880.00	\$415.00 \$13,695.00	\$411.22 \$13,570.26
		WED TRENCH DRAIN AND DOCK SLAB REPAIR								
120	202	ODOT PIPE REMOVED		39.00	FT	\$10.55	\$411.45	\$26.00 \$1,014.00	\$35.00 \$1,365.00	\$29.14 \$1,136.46
121	202	ODOT REMOVAL MISC: TRENCH DRAIN		76.00	FT	\$10.55	\$801.80	\$15.00 \$1,140.00	\$23.00 \$1,748.00	\$29.91 \$2,273.16
122	202	ODOT PORTION OF STRUCTURE REMOVED, AS PER PLAN		1.00	LUMP	\$527.70	\$527.70	\$2,300.00 \$2,300.00	\$825.00 \$825.00	\$1,044.96 \$1,044.96
123	259	COLS DRIVEWAY PAVEMENT REPLACEMENT, TYPE 111A		4.00	CY	\$464.58	\$1,858.32	\$330.00 \$1,320.00	\$665.00 \$2,660.00	\$500.00 \$2,000.00
124	901	COLS 10" STORM PIPE, 720.08 w/TYPE 1 BEDDING, w/ITEM 912 BACKFILL, AS PI	ER PLAN	39.00	FT	\$89.71	\$3,498.69	\$175.00 \$6,825.00	\$70.00 \$2,730.00	\$73.52 \$2,867.28
125	SPC	C TRENCH DRAIN		76.00	FT	\$237.47	\$18,047.72	\$360.00 \$27,360.00	\$350.00 \$26,600.00	\$257.50 \$19,570.00
126	623	ODOT CONSTRUCTION LAYOUT STAKES, AS PER PLAN		1.00	LUMP	\$751.98	\$751.98	\$2,000.00 \$2,000.00	\$4,500.00 \$4,500.00	\$1,800.00 \$1,800.00
		PARK TRAILS AND PARKING LOTS								
127	202	COLS PAVEMENT REMOVED, ASPHALT		861.00	SY	\$7.39	\$6,362.79	\$4.50 \$3,874.50	\$9.30 \$8,007.30	\$9.67 \$8,325.87
128	203	ODOT EXCAVATION		197.00	CY	\$51.59	\$10,163.23	\$38.00 \$7,486.00	\$52.00 \$10,244.00	\$90.82 \$17,891.54
129	204	ODOT EXCAVATION OF SUBGRADE, AS DIRECTED		5.00	CY	\$35.62	\$178.10	\$38.00 \$190.00	\$57.00 \$285.00	\$108.86 \$544.30
130	204	ODOT SELECT GRANULAR BACKFILL, NO 2 STONE, 703.01, AS DIRECTED		5.00	CY	\$66.70	\$333.50	\$105.00 \$525.00	\$80.00 \$400.00	\$60.00 \$300.00
131	204	ODOT SUBGRADE COMPACTION		947.00	SY	\$0.72	\$681.84	\$2.20 \$2,083.40	\$10.00 \$9,470.00	\$2.10 \$1,988.70
132	251	ODOT PARTIAL DEPTH REPAIR		230.00	SY	\$141.51	\$32,547.30	\$74.00 \$17,020.00	\$60.00 \$13,800.00	\$43.61 \$10,030.30
133	253	ODOT PAVEMENT REPAIR		10.00	SY	\$227.25	\$2,272.50	\$95.00 \$950.00	\$360.00 \$3,600.00	\$221.05 \$2,210.50
134	301	ODOT ASPHALT CONCRETE BASE		75.00	CY	\$235.36	\$17,652.00	\$215.00 \$16,125.00	\$180.00 \$13,500.00	\$283.34 \$21,250.50
135	304	ODOT AGGREGATE BASE		158.00	CY	\$82.84	\$13,088.72	\$60.00 \$9,480.00	\$100.00 \$15,800.00	\$79.66 \$12,586.28
136	407	ODOT NON TRACKING TACK COAT (0.10 GAL/SY)		904.00	GAL	\$4.45	\$4,022.80	\$4.40 \$3,977.60	\$3.00 \$2,712.00	\$4.25 \$3,842.00
137	12423	3 WEST CRACK SEALANT, RUBBERIZED		8,700.00	LB	\$1.29	\$11,223.00	\$1.30 \$11,310.00	\$1.30 \$11,310.00	\$1.30 \$11,310.00
138	642	ODOT STOP LINE 24", TYPE 1		10.00	FT	\$4.75	\$47.50	\$4.40 \$44.00	\$4.75 \$47.50	\$4.64 \$46.40
139	642	ODOT YIELD LINE		10.00	FT	\$15.83	\$158.30	\$15.00 \$150.00	\$16.00 \$160.00	\$15.45 \$154.50
140	823	ODOT ASPHALT CONCRETE SURFACE COURSE, TYPE 1 (448), PG64-22		36.00	CY	\$297.65	\$10,715.40	\$270.00 \$9,720.00	\$250.00 \$9,000.00	\$309.34 \$11,136.24
141	12002	2 WEST ASPHALT BASED SEALER, WITH TOP TUFF, COMPLETE		21,680.00	SY	\$1.03	\$22,330.40	\$1.15 \$24,932.00	\$1.15 \$24,932.00	\$1.14 \$24,715.20
		MISCELLANEOUS								
142	614	ODOT LAW ENFORCEMENT OFFICER, AS DIRECTED		64.00	HR	\$75.99	\$4,863.36	\$72.00 \$4,608.00	\$92.00 \$5,888.00	\$80.00 \$5,120.00
143	614	ODOT MAINTAINING TRAFFIC		1.00	LS	\$100,772.00	\$100,772.00	\$90,000.00 \$90,000.00	\$100,000.00 \$100,000.00	\$75,000.00 \$75,000.00
144	614	ODOT PORTABLE CHANGEABLE MESSAGE SIGN, AS DIRECTED		10.00	DAY	\$100.00	\$1,000.00	\$365.00 \$3,650.00	\$125.00 \$1,250.00	\$350.00 \$3,500.00
145	614	ODOT WORK ZONE PAVEMENT MARKINGS		1.00	LS	\$15,000.00	\$15,000.00	\$1,500.00 \$1,500.00	\$40,000.00 \$40,000.00	\$40,352.36 \$40,352.36
146	623	ODOT CONSTRUCTION LAYOUT STAKES AND SURVEYING		1.00	LS	\$2,700.00	\$2,700.00	\$4,000.00 \$4,000.00	\$4,115.00 \$4,115.00	\$12,000.00 \$12,000.00
147	624	ODOT MOBILIZATION		1.00	LS	\$104,445.00	\$104,445.00	\$64,000.00 \$64,000.00	\$100,000.00 \$100,000.00	\$75,000.00 \$75,000.00
		INFO	RMAL TOTAL BASE BID				\$2,769,183.49	\$2,932,709.56	\$3,190,252.85	\$3,317,318.24
		BID ALTERNATE A								
A-1	202	ODOT PAVEMENT REMOVED		93.00	SY	\$19.29	\$1,793.97	18.5 \$1,720.50	20 \$1,860.00	30.9 \$2,873.70
A-2	203	ODOT EXCAVATION		16.00	CY	\$26.79	\$428.64	42 \$672.00	87 \$1,392.00	46.35 \$741.60
A-3	204	ODOT SUBGRADE COMPACTION		95.00	SY	\$0.54	\$51.30	2.15 \$204.25	15 \$1,425.00	3.15 \$299.25
A-4	304	ODOT AGGREGATE BASE		16.00	CY	\$32.14	\$514.24	65 \$1,040.00	120 \$1,920.00	61.8 \$988.80
A-5	451	COLS 8" REINFORCED CONCRETE PAVEMENT, CLASS COC 5		95.00	SY	\$91.08	\$8,652.60	113 \$10,735.00	155 \$14,725.00	134.93 \$12,818.35

		INFORMAL TOTAL ALTERNATE A, BID ITEMS A-1 THRC	DUGH A-5				\$11,440.75	64000 \$14,371.75	\$21,322.00	\$17,721.70
		BID ALTERNATE B								
B-1	202	ODOT PAVEMENT REMOVED	36	9.00	SY	\$19.29	\$7,118.01	\$18.50 \$6,826.50	\$20.00 \$7,380.00	\$25.75 \$9,501.75
B-2	203	ODOT EXCAVATION	6	2.00	CY	\$26.79	\$1,660.98	\$41.00 \$2,542.00	\$60.00 \$3,720.00	\$36.05 \$2,235.10
B-3	204	ODOT SUBGRADE COMPACTION	36	9.00	SY	\$0.54	\$199.26	\$2.15 \$793.35	\$8.00 \$2,952.00	\$2.83 \$1,044.27
B-4	304	ODOT AGGREGATE BASE	6	2.00	CY	\$32.14	\$1,992.68	\$60.00 \$3,720.00	\$70.00 \$4,340.00	\$61.80 \$3,831.60
B-5	451	COLS 8" REINFORCED CONCRETE PAVEMENT, CLASS COC 5	36	9.00	SY	\$86.79	\$32,025.51	\$101.00 \$37,269.00	\$170.00 \$62,730.00	\$85.49 \$31,545.81
		INFORMAL TOTAL ALTERNATE B, BID ITEMS B-1 THRO	OUGH B-5				\$42,996.44	\$51,150.85	\$81,122.00	\$48,158.53